£AEL G A P 102 & B HE 4R e =

I PN B3 3 /o AR LR B2 PR EVHBN 0 AR 102 E AFEP B E L PP 5 1,000 F <0 B
ﬁfﬁ'%f}/ﬁffi [~5B]): 2R 5+F /M47% [FO519]) AR I S LA T H 102 Z R 2 B¢ }pﬁvfﬁ,“ﬁwgﬁ Boehe poerid B AT A
EEFP 3 REME(TERZEZ Y EMRE)

TES RS ETEUE o 7 B ATE 2 AT iE R
AR COFERFRAERS 2 FU Tt R L LA BBEFEUALINE T R RS THER “F,’ﬁ/”\ o 1’OOO§£ 1503;“
AR RIE o BRI GA EFREL 2 F 2,000 g ~ 440 g ~
@hgs - KA o =fe WL AER ALl 05 250 - AL P 3,000 § ~ 450 § =~
QA FHE AT 2 HIAhFTENERY F:}%ﬁ TETFHREEEPF-F R R
EFEHEFEA dos 0 R R FHRTR -
@F I EREITRLEL - 2 F U T HTPLAERAML IR ZARE N LN s 24 v ATt 40 A9 N
@ixﬁ;gqggfg:gg,gz TR - TC WA Ejzg.‘,;,gc 1 ARSHH R~ R ,%,;5}\;4 W) A 5 - 1.4 AR 102 # R R AR Y TE HRZ &% 5 7 ? [25 %~ ]
EEDEE FRYAPHEFRET BRI FFEERE L SR 5 KR IEET TR
LRI 108 S 2R F PR Fad B4R f%ﬁgigiéﬁiﬁdﬁé;,zﬂd;ﬁﬁ%ﬁ "
@FXEBHEY » MY X z;}—ln}a%u:ﬁa\&% o

’EEE‘—
lzi'g FAZAMART > v ET AR
)G AP A A E o A B9 AF 50000 %+ & 57 800,000 % -

FoAATLTAFEA GV R R R R
1) by £ 4 > BIFfIF L 4o ¥ Fdods o [5 4]
2.%% € o [5 4]

() tap=forz FEL 7T EY ;%—E;c;}%%tfﬁﬂ FEmRS N ad £42 [10 4]

BPE
RPpte B2 A EAF FEMRZZRT > Y EARBPH L F A FEITE A7
[25 4]
P =

a9 .z SO A 33 A\ BB PN EELZ BA Lt—r;,J,ri,-q;-rg\@gjggg\zp\ggsgqgeurggr
#

=

O FRBY FPEERPELS LTI £ FAFHAY > FRp HEI o

(=) 7 23F102 & ¢ @ fo g 14 5% > &7l 20:;7;»0[54\]

(Z) 2 &AR102 & ¢ NEH2TRE OF %> EFI30F ~ -[54]

(3)ﬁ&%@]lOZE?ﬂi%jﬂ%‘%(fébﬁiﬁ) L 28 % 0 EFI105 ~ o [5 4]

(z) 7 23102 & ¢ N2 7%E 25 % > {12508 ~ - 322 7 2 101
#1277 10 p A= f - [5 4]

(Z) AaxEI02Eg ht3 2dgFzadFlFg > BJ30F~ %03
AE 102 & 10 % 20 p 4+ F o [5 4]



